22 =24 ]=(x-[)?

® 3 @ 4 ® 5

@ 2

(x—1)2

‘ X2 -2x+1




A% kol tiske] Bag 7 = 3(k + 2i) — k(1 - i) ©] kol =8l 57F
S5 ko] e Ashi?

® -2 )0 @1 @ 2 ® 3

z = 3(k + 2i) — k(-2i)
= 3k + (6 + 24)i = &35
S 3k=0, k=0




1 2 1 )
<§x+5> ba= g bbet 2 A0 %0 b A Fath

A2

@ 10 @ 5 @1 @ 0 © -2

—€B ~
1)? 1 )

(?‘) +2X<5x>X5+5 a
1 2

=Zx +5x+25+a

25 +a=21

a=-4,b=5

La+b=1




U AL 712H?

v
oo
ol
)
B
ol
o
>
)

O
o

@x2+3=x2—6x+9+4x @ 2x*+3x+1=0

® x(2x+1)=4x>-1 @ 3x2-x=0

® x-1)(x-2)=x-5

I L ax? +bx+c=0(a#0) o FolnZ

DOx®>+3=x>2-6x+9+4x
2x-6=0: AT




ZEAdy=x2+6x+c= 8 (-1, 4 &
Ay, o] BRG] A o] ;L)

@ (3, 0) @ (0, 3)

@ (-3, 0) @ (0, -3)

® (-3, 9)

il
fu)
o
ot
L
)

y=x2+6x+c o A(-1, 4)

4=(-12+6x(-1)+c¢
=1-6+c¢




94

stofzt.

o

A2 4 (k= 4)x+k—1=00] L& NS A% k
12

q_

o
o
=

o
H

5}

Bo}x%

el

17}

T
=
o
[
o
(]
l__l
=2
[N
—
|
M «
Ez_x_
W\l/
SN
,m_no__._._k
o ¥
e !
QAE <
o ¥ |
o B
oo
B A

6.




~-13cm---"~

16.cm

0
9

2x% — 26x + 169 = 97
X -13x+36=0

(x—4)(x-9)
x=4F=x

= 9cm O]t

#o] o]

4 x4 =16(cm) ©|ct,

Lr
1




[13
=

A £ ()% v- g 0 Wi Tel $E 0(x), HeIAE ket
o, £ (x) 2 20— 102 s w9] B3} L] 29
O % 20 (x)HHA - %R @ E:20(x)YUMA R
® %:jomdmA: k- @)% jomumA R
® &: %Q(x)b}‘ﬂz] 2R
x—l | 25 F5MH 2x - 1




)
o
1>
=

ofth. oluf, f(x) & 2+ 3x + 22 tHs Wo] Y27

D 2x+5 @ -3x ® 3x+6

@)ax+7 ® 5x+8

0E x+ 1, x4 28 1S uje] yuA7 47 3, — 1

o
sf
flo

O f()E P2 +3x+2,F x+D)x+2) 2 UEs o
Q(x), YH A& ax + b=kl oFH

f(x) = (x+ D(x+2)Q(x) +ax + b2 F= 5 AT
EAIY] 2AANA f(-1) =3, f(-2) = -1°]E2
f(-1)=-a+b=3

f(-2)=-2a+b=-1

A =g =4 h=7

watA, Tk oA x4 7




20123 + 1 a+1

P er v R sto Y7 o] 7pe a5
10 i xagrt 1 ) S ash ¥ o STk el
» G
1007
b G 1=
> ME: 1006

&8

(2012 +1)(20122 - 2012 + 1)
(20122 - 2012 + 1)
=20130|B2
Ca+1  2013+1 2014 1007
“a-1 2013-1 2012 1006




